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DIPLOMA IN NUTRITION AND HEALTH EDUCATION
(DNHEOL) / 90T Uet Tareey f31e o feeemn
PUBLIC HEALTH AND HYGIENE / S &1y 371 T=adl
Time: 90 Minutes

Maximum Marks: 50

Note: There are 50 multiple choice questions (MCQ’s) in the paper. Each question
has four options. Tick the correct option. Each question carries equal mark. / 3 U
T 50 SgfaehedE T fou T B Y% WA § IR foshed 31 6 foeed @i fea it
Tcdoh Y9 Ueh 37eh ol g

1. Which one of the following vaccine is given soon after birth? / Fe=fcifaa & &
-1 YT ST o L TG foam STTefT 82

A) Typhoid / ZRHIRE
B) Rotavirus / T IR

C) MMR / TH. T, R,
D) BCG / sit. €. .

2. Crude Birth Rate is one of a vital statistics. Crude stands for: / 3TN S0
HEcaqUl STehST H © Teh 8] I hl Wl 2
A) Exact / 3l

B) Precise / IYTdeT
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C) Accurate / Gg!

D) Approximate / TTTH

3. Which of the following, is NOT a source of data on vital statistics? / frafafaa o
H -9, 70 g SAThel T ST 1 &I T2} 87

A) School records / %@C\Wf{aﬁé

B) Census / ST

C) National Sample Survey / TS Sfdas daeqor

D) Sample registration scheme / IfdasT GsfieRToT AT

4. Which of the following is a hormonal contraceptive? / FEfcIRad # & i-a1 U
T Heref} mifarers 22

A) Lippes loop / fordta SN

B) Diaphragm / STI%hH

C) Oral pills / TfRaes Miferat

D) Copper / 9T 2t

5. Which of the following is a terminal method of family planning? / F=ifetRaa & &
SHI9-9T IRETR 1S T Tk ZfHel U™ 22

A) Intra uterine device / 32U J2UE fears™
B) Sterilization / TG
C) Barrier / SERbED
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D) Chemical / TER™IM®

6. Undernourishment exists when calorie intake 1s below the ............ / hel) BT

................... H T BT STCIAIT T G 2
A) Poverty line / T @1
B) Average intake / 3G T

C) Minimum dcectary protein requirement / ~JJIdH ATEN EIEERERG

. e . [
D) Minimum dectary energy requirement / JIdH HATER STl GU

7. Which of the following is a disease caused by bacteria? / fefefaa o @ a0
SFTT o BT B AT T 22

A) Kala azar / shTcdT SASX

B) Malaria / Haifem

C) Tuberculosis / & T

D) AIDS / ugq

8. The reservoir of the disease ‘Rabies’ is ........... / TS o1 i Ud Giafd 9 82
A) Man / 3ATGHT

B) Dogs / T

C) Soil / gt

D) Mosquito / H=eX
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9. Salinity of the soil, refers to ................ in the soil. / Tig & AavTar, =1 AdAS %,

A) Sugar / =T
B) Salt / dHh

C) Vitamins / foer®=
D) Urea / Ff&T

10. By oo, method of composting, compost is mechanically manufactured on

a large scale./aﬁEWﬁa@,aﬂﬁWHﬁWﬁﬁﬁﬁﬁ ................. fafer 2
A) Anaerobic / AT

B) Aerobic / a@aﬁaﬂa

C) Hot / 357 fohuam

D) Bangalore / SR

| i1s a condition characterized by offensive odour of the mouth. /

.............. e Ut fearfer @ Forem o o gef 37T ueh |rT=y e 8
A) Dandruff / &1

B) Scabies /Elfl?*ﬁ

C) Scurvy / &hdl

D) Halitosis / efcTeledg
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12, . is the difficult or infrequent evacuation of faeces. / .............. el i

i AT SAATHA FHehret 2

A) Constipation / oSl
B) Diarrhea / <&

C) Steatorrhea / et
D) Dysentery / UfesT

13, e, 1S a narcotic substance obtained from Poppy plant. / ................

TR 3 T © T Uk HIeeh Ut 2
A)LSD / Tal. wd. 1.

B) Cocaine / ik

C) Opium / 3THIH

D) Morphine / HRGIH

14. Consumption of which of the following increases the chances of accidents? /
freferfiaa o & forereh T & eleTaTY sht ¥ o1 STt 27

A) Alcohol / I«

B) Cigarettes / oM@

C) Heavy meals / 9efi HETCI

D) Chewing gum / =JTH
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15. Which amino acid is restricted in PKU? / 9.3, g & hi-|T T T ldsfea
&7

A) Phenylalanine / o Iscfi\chl IEE

B) Alanine / AT

C) Proline / I

D) Methionine / EIDEIEE

16. Hyperlipidemia means, high level of : / ATIATUTSIHRT T AL &, oo Eal
3= &N

A) Fat in diet / STTER | /4T
B) Lipid in urine / % & =@
C) Adipose tissue in body / IR T TET Sk

D) Cholesterol / T H hlciTd

17. Which of the following is a high fiber food? / F=feiRaa & & #-a1 Tk 3=a
HIZe IS 27

A) Milk /g4

B) Rice / =TdeT

C) Bread / P

D) Apple / ]
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18. Steatorrhea is the excretion of ................ in large amounts in faeces. / HT |

AR ABTH o fassTfra 21T LT sheaTdr 2
A) Fat /991

B) Protein / TEH

C) Carbohydrate / A i%lsga
D) Water / 9Tt

19. Cholethiasis 1s the formation of stone in ............. [ e, T gl g

I AT THT ShEeTdT 2
A) Kidney / Tl

B) Liver / Jehd

C) Gall bladder / fom=mem

D) Pancreas / 37=IR1Y

20. The dietary management of Gout involves consumption of low .......... diet. /

A) Fat / =it
B) Purine /tqc'\ﬁ:f

C) Protein / M
D) Cholesterol /@@'{-?;IFT
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21. Which of the following microorganism is a cause of diarrhea in children under 5
years? / FHATARET H & SH-91 GEAST 5 T & A 37 o Soai H TR T& I HRT 82
A) Adeno virus / TS I
B) Acinetobacter virus / TR IRH

C) Corona virus / AT I

D) Rota virus / U aR—A

22. Infective hepatitis is caused by a .............. affecting the liver cells. / €shTHeh
THFAMT T .................. o STV BIAT & T Toh ket <l ShITRTRTSY 3BT TTfora SR 2

A) Virus / 91¥H
B) Bacteria / ST
C) Vectors / dlgsh

D) Parasite / 9GSIdT

23. Which of the following, is the causative organism for Hydatidosis? / fefeRaa
T T HI9-HT, SSTIFAT T I S 87

A) Echinococcus Granulosis /Wﬁww

B) Taenia saginata / 21T 1T

C) Taenia solum / A g

D) Ascariasis / TEhTEH
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24. Ergotism is a condition arising due to a ................. affecting food grains. / I

TAT QTR ! THTfAd S a1 o % SHIT Icq—T 2 arett fefd 21
A) Bacteria / ST

B) Fungus /th;z?Qr

C) Virus / 9=H

D) Toxin / 3T

A) Kidney / Tl
B) Heart / @Ied

C) Brain/ Hfkash
D) Liver / Jsd

26. Which of the following is NOT a drug for treatment of TB? / fF=fciRaa & &
hi-HT ZTelT o TR o TeTT 39 2 &2

A) Isoniazid / @IS

B) Lariago / fm

C) Ethambutol / Qﬂ'ﬁ@;«ﬁﬁ

D) Streptomycin / R HEREH
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27. Which of the following test is done to find if an individual is susceptible to

diphtheria? / foret safch ot fewefifar g it EvremT 1 yatr o & fofe fefafRaa a7 @
hIH-ET TTeT0T TRt STTaT 22

A) Patch / ¥eig 3%

B) Tuberculin / dchl{ghl?fl-l FL
C) Schick / freh %2

D) Blood / T &

28. Which one of the following diseases, may cause paralysis of lower limbs? /
freferfiaa & & si-dft s fmret 31Tl o1 qeqrena a1 o o STt 22

A) Poliomyelitis / aferat

B) Hepatitis /a;m-sﬁ‘a

C) Nephritis / I3fea

D) Gout /T3

29. Which of the following is a clinical sign of tetanus? / F=fetRaa & & st-\1 2w
T AT TR0 B2

A) Coughing / @iE-T

B) Sneezing / SiehT

C) Watering of eyes / ATEl | gt ST

D) Rigidity of abdominal muscles / 3&X st TGUIRTAT T TRed BT
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30. The disease, Malaria is transmitted by the .............. anopheles mosquito. / TeAteT

ETL T et ST 7ot o T haldT 2l
A) Male /=T

B) Trans / U

C) Female / |TaT

D) Male and female / 7 3R AT1&T

31. The meaning of the word prophylactic is to ............. a disease. / TTRTER 3168 T

A) Treat / SATST h{AT
B) Prevent / AT

C) Complicate / STTeet BIFT
D) Manage / 9519 ST

32. Ringworms of the head are caused by ............. infection. / TR & g8 HshHT,

A) Fungus / ®%&

B) Virus / 911"

C) Bacteria / EEMIEO]
D) Toxins / foremera eTert
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33. Leprosy 1s a communicable disease characterized by lesions of ........... and the
involvement of ........... / 53 T TH GIAUT RS oo <1 S EARICT
AT 2

A) Stomachm, nerves /ﬁ?.’, LIEETLY

B) Skin, nerves / o=, TR

C) Skin, vessles / cd=, CIEEALY

D) Mouth, nerves / 18, IEEQLY

34. The Alma Ata declaration conference was held by WHO with the aim of : / 3TcHT
AT YOI T, Soc3], T, 31, shl STRIISH Tefoifiad Sevar & o i o

A) Health for all / @+t o 7T wameey

B) Education for all / gl & %N e

C) Poverty for none / TRl o fore sl 7
D) Right to nutrition / TIYUT ST TR

35. The expenditure incurred on primary health care is ............ that of tertiary care.
/ ST TR ST W B STelT o3 a1 1eh @I ol QT H oo 2l

A) More than / SIDED

B) Less than / spH

C) Same as / SI{sIT
D) Above / 3%
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36. The ................ scheme was introduced in 1974 in the healthcare delivery

infrastructure. /€L AT fore ol ............ AT T 1974 H & fobar )
A) Village health guide / UTHIUT T 1SS

B) ASHA / 9T=IdT 9Ted GTHTISTeh hiiehd! ISt

C) Multipurpose worker / qué&i\lq Tkl
D) Village dais / ITHIUT &1

37. The ............... is the lowest level in the health care services in a country. / TRgT

QT T TTE @S HaTaTl § ol e &6 EIR]
A) Taluka / dTeIehT

B) District / e

C) Block / sciteh

D) Village / TTia

38. Corona-19 disease was present in the whole world, so there was a ................... of

the disease. /q:(ﬁ%rﬁﬁﬁm-wﬁﬂmmm:a% ............. H
A) Endemic / T

B) Epidemic / HETH™

C) Local / ™

D) Pandemic / EIEERHEI
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39. An important component of PHC is provision of MCH care. MCH stands for
.............. /. @, ©Y. 1 Uk HEca Ul Heeh . HY. T, @I T T ) TH. €1, T,
Y qredd @

A) Mummy and children health / T TR STl ot TaTeey

B) Mortality and child health / cg & 3R SITeT &areey
C) Maternal and child health / ATq 3T 1] Tarees
D) Material and civilian health / HTq IR AT Ty

40. The government has initiated the ............... programme for communication and

is an integral part of routine health care delivery system. / TR 7 AR & AT

.............. AR & TR © i foh fafia Tameed dawrer oo gureft st weh 1=

A) ICDS / =18, dt. €. ua.
B) WHO / &9, T4, 3.

C) ICMR / 318, H, T, 31K
D) IEC / 3. 5. .

A) TB /&I U
B) Goitre / T
C) HIV / T=. 3718, i,



[15] DNHE-2
D) Anemia / T&dTeHdT

42. Which of the following is a strategy to treat patients with TB? / fafafaa @
-t ZTefl o AT o AT o T q W 87
A) Directly Observed Treatment Strategy / Icd&l Frreror Su=m o

B) To immunize the patient / TAY ST FTSRTERTOT T
C) To isolate cases of TB / EYeft o HTHAT ohl 37T A o foTg

D) To provide force food to the patient / T ahT HY%d IS T8 ]

43. The ................ 1s the main anti poverty programme for the benefit of the rural

pPOOT. / e WW%W%W&@W—WW%

A) Development of Women and children in Rural Areas programme / JTHIUT SEIR
AiEaT TR Tt forehre shrish

B) Integrated Rural development Programme / quf-ad TTHoT R SHrishA

~

C) Wage employment programmes / J-Icldé“l EUICADER
D) Training of Rural Youth for self-employment / W@WWWW

44. Whooping cough is caused by ............ / BTl G ... % T EI &
A) Pertussia bacillus / qg:ﬁ:l?ﬂ Sfte™

B) E . coli / 5. hIcTl3
C) Lactobacillus acidophilus / QEMEIR G R E RG]

D) Salmonella typhi / GTeHHT g
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45. Formula to calculate BMI is: / T, T8, 3TF§ ShT TTOTAT SR <Rl SRR 27
A) Height in m/Weight in kg? / HeX ¥ S=ms/a= feretium? o

B) Weight in pounds/Ht in cm® / IS 13- U/ g Wl o

C) Weight in kg/Ht in cm’ / fhetioms & asi/S=s onfi” #
D) Weight in kg/Ht in m? / S5 foretiom U/ Hie ¥

46. ..o is the United Nation’s specialized agency for health. / ............. Y
o foTu S g ol oI Oeieft 2

A) World Health Organisation / fo¥a Tamees diaq
B) United Nations Development Programme / &3[ed g forshtet shraishH

C) World Food Programme / Tova @I ShishH

D) United Nations Children’s Fund / ?Jfl'@tﬁ

47. Which of the following is NOT allowed in clear liquid diet: / F=faRaa & &
HIH-HT WIS, BT T HAER H ieaferd 781 2:

A) Weak tea / 8cehl I

B) Strained fruit juice / BT §3T Al hT

C) Banana shake / et 3T 315k

D) Coconut water / AT IHT
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48. Which programme integrates diabetes care and control in the primary health care
system? / Shi=-8T FHRIHH, STfHeR TATE S@WT JUMTe! § HYHE S@vTet S FRIT i
Thiehd LT 27
A) NPCB / T 317yt 3= shrefshny
B) NVBDCP / T deet Stfa Tt ot shrefspm
C) NDCP / Tsgia HeHg {101 shrelshn
D) NNACP / TsIT qTNUTTeHeh ST =0T ShRishH

49. Which of the following nutrition programme is of historical importance and is

no longer in operation? / frfetRaa o & hI9-|1 99T SRishA UfdaTiie A &l & 3R
e HaTeH § TR 82

A) SNP / farsrs areor srdsea

B) ANP / STI&TI{eh 90T SHRIshH

C) ICDS / Guf-ara STet farehr S A1

D) WNP /1§ STTEId YT TI507 shiisha

50. The Desert Development Programme is operational in ............. state. / IIF%{\&[

forerrar shrdshe forer Us O w=Tfora 22
A) Rajasthan / TUSTEATT

B) Jammu and Kashmir / Gﬂi[\?:ﬁ'{ HIHR
C) West Bengal / It STt
D) Karnataka | ATEH



